PROFESSIONAL EXAMINATION BOARD
Jail Vibhag , Karyalay Pradhan Mukhya
P‘bProfessionol Van Sanrakhsak & Rajya Van Vikas

7)) ook Nigam Ltd. Bhopal Combined

Recruitment Test 2017
19th July 2017 09:00AM

Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. Purchase of cars has risen because of the decreased cost of new cars
2. Purchase of cars have rise because of the decreased cost of new cars
3. Purchase of cars have rose because of the decreased cost of new cars

4. Purchase of cars has rises because of the decreased cost of new cars

Correct Answer :-

e Purchase of cars has risen because of the decreased cost of new cars

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. The quarrelsome lady have been shouting since morning
2. The quarrelsome lady have been shouting for morning
3. The quarrelsome lady have been shouting from morning

4. The quarrelsome lady has been shouting since morning

Correct Answer :-

« The quarrelsome lady has been shouting since morning

3) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Usualy



2. Utelity
3. Diphtheria

4. Deefrence

Correct Answer :-
« Diphtheria

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Ordenance

2. Omission

3. Optimism

4. Original
Correct Answer :-

« Ordenance

5) DIRECTIONS: Fill in the blank with the correct article.

I aspire to be astronaut

1. No article required
2. the
3.an

4. a

Correct Answer :-

6) DIRECTIONS: Fill in the blank with the correct Preposition.
A drop of tear trickled her cheek.

1. among

2. with

3. down



4, for

Correct Answer :-

« down

7) DIRECTIONS: Fill in the blank with the correct Preposition.
Three sparrows perched the branches of the trees.
1.on

2. with

3. below

4. under

Correct Answer :-

8) DIRECTIONS: Fill in the blank with the correct article.
Joe plays ___ piano really well.

1. No article required

2. the

3.an

4. a

Correct Answer :-

« the

9) DIRECTIONS: Out of the given four options, choose the correct conjunction
to fill in the blank given in the sentence.

They whisper to each other no one else can hear.
1.or

2. neither

3. so that

4. despite of



Correct Answer :-

e SO that

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

It was still painful.

I went to see a specialist.
1. And

2. Although

3.So

4. Despite

Correct Answer :-

11) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

You drive carefully in bad weather.
1. ought to

2. ought to have

3. ought not to

4. ought not to have

Correct Answer :-

e ought to

12) DIRECTIONS: Find the word which can be replaced for the given sentence.
Fond of entertaining guests.

1. Contagious

2. Affluent

3. Hospitable

4, Envious



Correct Answer :-

« Hospitable

13) DIRECTIONS: Find the word which can be replaced for the given sentence.
The point where the earth and sky seem to meet.

1. Horizon

2. Atmosphere

3. Atlas

4. Altitude

Correct Answer :-

e« Horizon

14) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

They play (a)/ football on Sunday, (b)/ do they? (c)/ No Error (d)
1. (a)

2. (b)

3. (d)

4. (c)

Correct Answer :-

- (0)

15) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

The Eiffel Tower (a)/ is the most famous building (b)/ in France. (c)/ No Error

(d)

1. (a)
2. (b)
3.(d)



4. (c)
Correct Answer :-

- (d)

16) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘To have a green thumb’ in the
sentence given below?

My mother has a green thumb when it comes to houseplants.

1. to have the ability to grow plants well
2. to have a dislike for plants and insects
3. None of the above

4. to be physically disabled

Correct Answer :-

« to have the ability to grow plants well

17) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘To build castles in the air’ in
the sentence given below?

Don’t build castles in the air, just find some work to earn money.

1. None of the above
2. to make the most beautiful plans that always come true
3. to make the most practical and fruitful plans that never fail

4. to daydream or to make plans that can never come true.

Correct Answer :-

« to daydream or to make plans that can never come true.

18) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

Salt and pepper are the two most common seasonings.
1. cheap

2. available



3. rare

4, popular

Correct Answer :-

19) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

We had a magnificent dinner at the birthday party.

1. splendid
2. miserable
3. inedible

4. unhealthy

Correct Answer :-
« splendid

20) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

As dusk fell, bats began to fly between the trees.
1. noon

2. dawn

3. midnight

4. darkness

Correct Answer :-

« dawn

Topic:- General Science

1) A body of mass M strikes against wall with a velocity v and rebounds with
the same velocity. Its change in momentum is:/ SS0HH M $1T& fUUs v E TH
AR TR THIET 3 3R THH I A 909 ITAdT 3 | TP JT & ufkac- &

1. -2 Mv



2. -Mv
3. Zero/}[H

4, Mv

Correct Answer :-

e« —2 Mv

2) The speed of sound in air at constant temperature:/ ET:ITﬁﬁNHEITCIW G $I
EIGH

1. None of these/ 378 I ®I5 ol
2. Increases with increase of pressure/ Td ¥ 3fg & I1Y Fad1 §
3. Remains the same with the increase in pressure/mﬁqiﬁ%ﬂww LI

4. Decreases with increase of pressure/mﬁq@aiwilmﬁﬁf%

Correct Answer :-

. Remains the same with the increase in pressure/ &8 § gfg & I1Y M T §
3) Levels of organization can be seen only in-/ TEAT & TR W o IPd 8-
1. Animals only/ Siq ®IfRHT

2. Plant only/ UTGU &1 &

3. Multicellular organisms/&@ﬂﬂﬁlﬁﬁﬁﬂﬁﬁﬁ

4. Unicellular organisms/ Wﬁﬁlﬁﬂ\?ﬂ?ﬁﬁ

Correct Answer :-

« Multicellular organisms/ Sg®IIRIPIT Sital o

4) Wood is an example of-/ THs! I&TEIN §, -

1. Transparent/ U;UTCFRE'&’W
2. Translucent/ 37ifR1% URGx

3. Polymer/ dgdd
4. Opaque/ SOUREXN

Correct Answer :-



« Opaque/ 3OReef

5) A disease caused by viruses in animal is-/ ﬁwmﬁaﬁﬁmaﬁmﬁw%-
1. Anthrax/ T3V

2. None of these/ S8 Y DIs ol

3. Aspergillosis/@?ﬁri?ﬁﬁm

4, Foot and mouth/ H@’H%HES@T

Correct Answer :-

« Foot and mouth/ H"@Hﬁﬂ@@'ﬂ

6) Number of chambers in the stomach of ruminats is-/ ST HX- a1l U &H
STHTRIY & BT P TS Ehelt 3-

1.3
2.4
3.2

4.1

Correct Answer :-

. 4

7) The unwanted earthy impurities like sand, limestone, rocky material present

in the ore are called/ 3@ § HIN[g ¥d, AT UXR, TSI ARTEA oI 3raifesa eredt Ft
ST DI FIT HET ATl 82

1. Metallurgy/ ?ﬂﬂ?b_f[
2. Gangue/ 3MTUE

3. Calcination/ IGESILE]
4, Refining/ RN
Correct Answer :-

« Gangue/ 3fTHT

8) In human, number of spinal nerves is -/ Wﬁ, ﬁ?aaﬁmcﬁa‘@rrﬁ'cﬁ%



1. 33 pairs/33 \‘rﬁ?ﬁ
2. 31 pairs/31 Gﬁ@ﬁ
3. 32 pairs/32 el
4. 36 pairs/36 SIS

Correct Answer :-

« 31 pairs/31 S Sl

9) An aqueous solution of ammonia consists of:/ 34T & iy faea & a1 giaT 82

1. H*

2. NHq*
3. NH4* and OH/NH,4* 3iR OH™
4. OH™

Correct Answer :-
« NH4* and OH/NH4+ 3TR OH™

10) Aluminium is used for making cooking utensils. Which of the following
properties of aluminium are responsible for the same/ TRIFATH &T IUART WHT

TP & g9 g9 & e faran siran 3 1 vt & o on § @ o9 91 599 e Swendt 82
(i) Good thermal conductivity / 33 S ATl

(ii) Good electrical conductivity/ Gliﬂﬁ?ﬂﬁﬂm

(iii) Ductility/ e

(iv) High melting point/ 3 TTai® fag

1. (i) and (iv)/ (i) 3R (iv)

2. (i) and (ii)/ (i) 3R (ii)

3. (i) and (iii)/ (i) SfR (iii)

4. (i) and (iii)/ (i) 3R (iii)

Correct Answer :-

. (i) and (iv)/ (i) 3R (iv)



11) Which one of the following metals do not react with cold as well as hot

water?/ 9 u@sﬁﬁﬁﬁq-mb‘%aﬁwﬁuﬁ%muuﬁrmqﬁm%?
1. Fe

2.Ca

3. Mg

4. Na

Correct Answer :-

« Fe

12) Which of the following property is generally not shown by metals?/

Fraffad qoil § & Sa-ar urgei § om dR R 78 fiears dar g2
1. Sonorous in nature/ﬂ?ﬁ[ﬁw

2. Electrical conduction/fagad ara-

3. Dullness/=RHd

4. Ductility/adiaa=

Correct Answer :-

« Dullness/=Rgdl

13) Copper objects lose their shine and form green coating of?/ EITEITHHTQfW
TTY YT THS WY T & 3R B T P URd §141 82

1. Copper carbonate/ HI1R HTEHC
2. Copper hydroxide and Copper oxide/ WEE@W 3R HIR HFAES
3. Copper oxide/ HIIR HRIZS

4. Basic Copper carbonate/ Hd HIWR HTEC

Correct Answer :-

« Basic Copper carbonate/ Jd HIUR HEHC

14) The first link in all food chains is-/ 9} @rer gEarsi § gyd S 8-
1. Herbivores/ R®IERI

2. Carnivores/ n”mmﬂ



3. Green plants/ g Uy
4. All of the above/ IR gt

Correct Answer :-

« Green plants/ gL UIey

15) 1 kg mass has kinetic energy of 1 Joule when its speed is:/ 1 f&ITgagH 1
@ B Tfaet Sett Il 8, 99 STB! a1 il

1.4.4 ms~!
2.0.45 ms™1
3.1.4 ms~1
1

4,1 ms~

Correct Answer :-

16) Soda acid fire extinguishes the fire by?/ HST Tfys ¥ 3N $/ TH ST 32
1. Cutting the supply of air / €1 &1 Gﬂt‘[ﬁ?ﬂ@m{f

2. None of these/s_rlﬁ@[aﬂ's‘ﬁ
3. Removing combustible substance/ TgTNd Uy & e R

4. Raising ignition temperature/ Usdd- &l dUHTA @ldﬁ W

Correct Answer :-

. Cutting the supply of air / Bal &1 Y[ Hled TR

17) An electrolyte is:/ wﬁmm%
1. A metal/ T YTg
2. None of these/gﬂﬁﬁaﬁg:fﬁf

3. A liquid that conducts eIectricity/Wﬂ_q'\_rﬁ YRT BT AT HR bl §

4. A light electric cell/ T U=l fagaq I

Correct Answer :-



« A liquid that conducts eIectricity/Wﬂ_q'\_rﬁ YRT BT A HR bl §

18) The unit structure of genes is made up of:/ﬁ?ﬁmmﬁﬁ?ﬁ%
1. Magnesium/ﬁﬁﬁlﬂ'ﬁf@[
2. RNA/ 3RTAT Y

3. Endoplasmic Reticulum/ TSI@ed eHpad o

4. DNA/ STAU Y
Correct Answer :-

« DNA/ SR Y

19) When the distance travelled by an object is directly proportional to the

time, it is said to travel with:/ 99 % a¥g §RT a9 $1 TS g3t 0T & W& U 3¢ 30
e & Ty wfaxfta $g1 o godar g:

1. Constant acceleration/ ad @rur
2. Constant speed/ ad @rd
3. Zero velocity/QEaT[

4. Uniform velocity/ T THME a7

Correct Answer :-

. Constant speed/ fAad 9@

20) Great bear is a:/ ¢ SRR @:
1. Planet/ U& Ug

2. Constellation/ Udh dRTHUS

3. Galaxy/ Ta ciait

4, Star/ Udh dRT

Correct Answer :-

« Constellation/ T dRTHUSA

Topic:- General Knowledge



1) Other than Madhya Pradesh, the Chambal also flows through:/ HOUSU &
3[TaT d9d Pl 9gdl 8?

1. Chhattisgarh/S<T¢
2. Gujarat/ oRId

3. Rajasthan/ ISIRYTH

4. Maharashtra/ HERTY

Correct Answer :-

« Rajasthan/ SR

2) In which year was the Bharat Bhawan established in Bhopal? /HIutd@ # YRd
Yo+ fore af wirfua gom ur?

1.1981
2.1983
3.1984
4,.1982

Correct Answer :-

« 1982

3) In which year did Bhopal state become a British protectorate?/‘l-ﬁ'mﬁwm
e ¥ U fafesr w@Rere o= mar ur?

1.1817
2.1815
3.1816
4. 1818

Correct Answer :-

- 1818

4) In India, Madhya Pradesh is the largest producer of:/HRd H ALOUST fhI®T
TN IST TGP 8?2

1. Gram/dT



2. Jute/v[C
3. Sugar/d@Ht

4. Tea/d1l™d

Correct Answer :-

e« Gram/dHI

5) In which of the following districts are durries made out of rags?/ﬁ";‘lﬁl‘@a
foral # @ #19-9 fora 9 iR 9 gfeai am1g oirdt 82

1. Indore/3aR

2. Jhabua/<1g3i1
3. Bhopal/Hiard

4, Satna/dd-l

Correct Answer :-

o Satna/dd-l

6) In which place of Madhya Pradesh has the National Fertilizers Limited
established the first inland gas based plant on HBJ gas pipe Iine?/q‘wuﬂ'ﬂﬁ'm
I IR AP1a ISR fafires 7 gadier 79 urgy ws= &1 ugen siagita 1 smenfya w@a= wirfia
frar g2

1. Vijaipur/fasiaqR
2. Katangi/?:b?""ﬁ
3. Hatta/®g¢&T

4. Neemuch/=Hd

Correct Answer :-

« Vijaipur/fasagR

7) Who is the captain of the World Series Hockey team Bhopal Badshahs?/ fay
W giet Sa YiuTe IT6RE T FWH i 82

1. Devesh Chauhan/ 3% IgM
2. Sameer Dad/ 9HR g5



3. Adam Sinclair/ 3fcH Rigar
4. Mohammad Riaz/ HigwG R3me

Correct Answer :-

« Sameer Dad/ JHR g

8) Which of the following organizations works for the protection and
encouragement of Hindi literature in Madhya Pradesh? /70 Uexr # fg<} afigcy &1
TRET 3R WcTed & fore g & ¥ F1- 1 WIS ST a1 872

1. Kalidas Academy/®IeIGRT SBIGH
2. Kala Parishad/Fc'ﬂtIﬁGl"c(r

3. Bharat Bhawan/HRd Hd-
4. Sahitya Parishad/3Tfigd uRkeg

Correct Answer :-

« Sahitya Parishad/d1fedd uRug

9) Which of the following legendary characters/Gods do the Basdeva of the
Baghelkhand region sing about?/ S9EEs &7 & SUedl FAAfifEd § A S-S I
RO ursi Aaarsit & a1k | d 82

1. Shravan Kumar/ 490 $HR
2. Shiva/ R

3. Krishna/ I

4. Arjun/ 3@:[

Correct Answer :-

« Shravan Kumar/ 4dUl $HR

10) Which of the following districts produce diamonds?/ g # q #19-3 i A €R
BT ST g1 82

1. Harda/ 83a
2. Panna/ AT
3. Gwalior/ TaIferR



4. Umaria/ SARAT

Correct Answer :-

« Panna/ Udl

11) Which of the following art forms was inspired by the genius of Holkar

Queen Ahilya Bai in the 18th century?/18 oY zrardt # giems = sr%waﬁ'aﬂuﬁmr
Frafafad % 3 o14- i wor wu o1 ufva fear ure

1. Chanderi Sarees/dc3! Ara
2. Tussar Textile/JER dUST

3. Terracotta statues/cRIdIgT WY
4. Maheshwari Sarees/ﬂl%’dﬁ‘v'r@

Correct Answer :-

« Maheshwari Sarees/HATg%:! TSl

12) Where is the Gun Carriage Factory located in Madhya Pradesh? /¥4 Ue= § T
Ffeet el wei AT B2

1. Jabalpur/SIdelgR
2. Nepa/flTIT

3. Itarsi/sE'R?ﬁ

4. Dewas/cd™

Correct Answer :-

« Jabalpur/SdegR

13) Who out of the following had served as the Chief Justice of India?/fufefad
T 9 fra YRd & g@1 i & v § o forar 4r?

1. Nathuram Premi/:[?;R'IﬂﬁIﬁf
2. H. S. Z. Rahman/Td. TH. 3. JgHM
3. Ramesh Chandra Agarwal/J8%1 g 3fdTd

4. Ramesh Chandra Lahoti/I0R 3¢ @TgIc!

Correct Answer :-



« Ramesh Chandra Lahoti/30=I 9g drglct

14) Where wiI-I the Food Legumes Research Platform be established?/@miﬂ?ﬁ?ﬂ
YT g Bl WU fHar I

1. Chhatarpur/@dXqR
2. Damoh/GHIg

3. Amlaha/3fHdTal
4. Bhind/f¥s

Correct Answer :-

 Amlaha/3Hdlgl

15) When was the Satpura National Park established?/ IdYsT IS4 I&H ST RITGAT
P g5 A2

1. 1980
2.1981
3.1983
4,1982

Correct Answer :-

- 1981

16) When was the Tansen Award founded?/d-" REPR Hd VT fosar ar 412
1. 1980
2.1981
3.1983
4. 1982

Correct Answer :-

« 1980

17) The island of Omkareshwar is naturally shaped like:/ 3TH®RYT HTEIT
WIS U A f5d PR & 82



1. Circle/ 9d
2. Horse-shoe/ aﬁ%arﬂ:na

3. Semi-circle/ 31?;561?{

4.0m/ 3{H

Correct Answer :-

. Om/ 3

18) The year 2017 was declared as the by the Madhya Pradesh
Government while presenting the Annual Budget./ﬂwmwﬁmmﬁ'ﬂ
Pd Y, 99 2017 &I & = | "ifea foar am

1. Khadya Suraksha Varsh/@lélﬁ?&ﬂaﬁf
2. Shiksha Vriddhi Varsh/fRrem 3fg ad
3. Shishu Kalyan Varsh/R1] &earor a9

4. Garib Kalyan Varsh/TRId &eam ay

Correct Answer :-

. Garib Kalyan Varsh/Td e ay

19) The Bhojshala temple is at:/ HIST=ITem AfeR wal fRUT 82
1. Dhar/ YR

2. Khajuraho/ “@IT{R'@

3. Orchha/ 3{IR&T

4. Omkareshwar/ 3HHRY

Correct Answer :-

e Dhar/ YR

20) Rajkumar Verma is a weII-known:/maﬁwm 2
1. Athlete/l@ﬂlé
2. Journalist/UaA®R

3. Poet/?b'ﬁlr



4. Scientist/dT®

Correct Answer :-

. Poet/®fd

Topic:- General Hindi

1) ‘o A 6§
1. T[0T TR Y

2. Ao iy

3. fawf ©fy

4. 419 W) 9fY

Correct Answer :-

. 3 R Iy

Correct Answer :-

« ]P

3) ‘WY Afera gut ufaurett, Rrag % aaur waify - dffa d 8 -
1. 3N fADPR
2. ggIfdd PR
3. IHITAT SADR

4. Afa=RAIfad PR

Correct Answer :-



5) fgor Rreg w1 A AT B
1. @Id
2. dgHl
3. HR
4. geft

Correct Answer :-

« PY

6) “HI-fETdt EFIr YETaR FT MR :
1. 9gd Y g

2. UG UH BIFT

3. ATl YIS HRAT

4. I FHI

Correct Answer :-

. AT UH B

7) “Violation’ T f&dl iy wr<g 2 :
1. ST 4T



2. ST
3. gfafgan
4. 3ffaspHT

Correct Answer :-

8) el Sieht fFH S=vdia IyE @ et @ :
1. Hiel

2. PR

3.7

4. 9T

Correct Answer :-

9) ‘Bl YHT I g FI- I @ :
1. YIRS 9=

2. oo aRE® T

3. fafeRgEe A=

4. PRU-BTT Tae] ]

Correct Answer :-

. YRS W

10) ‘3R TH a3 313 d W W 3a=Y AHAT- I 8 :
1. HRRES a1

2. SBRIAS A

3. faurarI® ar

4. Ghdrde gty

Correct Answer :-



. Hhdis I

11) & Usg HT qUigar @ :
1. SRATCH

2. TRIf

3. gt

4, Jad I

Correct Answer :-

. 3ad gt

12) GGy UG H AU §
1. ST

2. 187

3. HHYRY

4.5%

Correct Answer :-

- 76

13) “HTEAP }eG & :
1. dodH
2. faa=it
3. dwad
4. GRS

Correct Answer :-

. fag=h

14) ALY A YHIRIG ey Jaf e g :
1. IRIGYTH



2. R

3. goila
4, AT el

Correct Answer :-

. RImy™

15) SARIPR ‘YHIG’ B Pl 8
1. 3G

2. T

3. Th I

4. 3o gt

Correct Answer :-

. Jad gl

16) TS H diell S arel Fielt 3T 8
1. SUgad | ¥ IS ol

2. TgTS! gl & Sicia

3. gdf gt & siaid

4. Uiyt f§dt & sicia

Correct Answer :-

. gdf gl & sfaia

17) fafafeq o fodw ssg-gm adi e :
1. SUgad-fifaRad

2. TG-S

3. AH-SHHH

4. 99d-Fed

Correct Answer :-



18) FafrfRad g a8

1. 918 oI |, TH 98T ofai|

2. TR foru 381 9 wfma|

3. H Al 3(d=Y Bl SR |

4. q9 QTGS IE HTH SRR g1 S|

Correct Answer :-

. T8 O 81, g a8l onail|
19) FRffea A g v 7 :
1. GRET

2. uRkurfa

3. URlM&

4. U

Correct Answer :-

. gRufd

20) fagferiea & quretya e Te-gm e 8 :
1. AS-TRTBT

2. 3Acid-3fddid

3. 3R-YIR

4. SR -3

Correct Answer :-

. A-TRIST

Topic:- General Maths



1) DIRECTIONS: Find the wrong term in the given number series:/ﬁ%f!{r: d’fﬁ
HET 40Tt H TTerd UG J1d B

9, 15, 26, 51, 99, 193, 387

1. 15

2.193

3.51

4. 26

Correct Answer :-

« 193

2) An engineering student has to secure 25% marks to pass. He gets 47 and fails
by 43 marks. What are the maximum marks of the examination? W%Fﬂﬁﬂﬁ'ﬂw
DI Il B P AT 25% 3 T H3A Bid 81 I 47 3 erd @ SR a8 43 3! J Srgwitvl gt
STt 8 1 39 e H siftrean i fraq g

1. 360 marks/ 360 3idh
2. 385 marks/385 3{®
3. 410 marks /410 3i%

4. 435 marks/435 3{&

Correct Answer :-

« 360 marks/ 360 3&®

3) The roots of the quadratic equation 2x2 + 3x - 20 = 0 are:/fggara gHi®HIr 2x2
+3x-20=0%d¢:

Ba | on



4) The sum of all prime numbers between 58 and 68 is:/58 3MiT 68 P d B it
SYTST TBATSHT BT TN T 82

1.179
2.183
3.178

4.187

Correct Answer :-

« 187

5) The sum of the internal angles of a regular polygon is 1800°. The number of

sides is:/T® GUIGYS & AR BIUN BT AT 1800° 7| YT Bt BT 8:
1.7

2.9

3.12

4. 10

Correct Answer :-

e 12

6) What will be the area of a rhombus, whose one side is 17 cm and one
diagonal is 16 cm?/ T& JHAgYS $T &Awd o1 31T, et e yer 17 99 g iR ts
fawuf 16 A 82

1. 384 cm?/384 IH2

2. 386 cm?2/386 THI2

3. 240 cm?/ 240 T2

4. 480 cm?2/480 JH12

Correct Answer :-

« 240 cm?/ 240 9H12



DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ fd=r: FA=fefRad u=a o yxar® g (2) & RIF W= &1 31471 91fee?

291 3p2
8 &

3
100- 8- 4-¢8

__=?

36
1., B8

38

37

392
4, ©

Correct Answer :-

3?3
4

8) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fdwr: Fafafaa goft & yyare fore (2) & WM W T4 34T A1lRw?

15, 21, 33, 57, 105, 201, ?
1. 393
2.293
3. 249
4. 313

Correct Answer :-

« 393

9) Two trains of length 100 m and 80 m respectively run on parallel lines of
rails. When running in the same direction the faster train passed the slower
one in 18 second, but when they are running in opposite directions with the
same speed as earlier, they pass each other in 9 seconds. Find the speed of
each train. (in m/s)/ 100 HeX Td 80 Hiex dars ardl &I YeTSal IHMIGR Yeial W
Tadl 8] afe aFl U g1 famm o 9a w8l 8 af a9 IWR | ga+ arat mel, hft IR @ gem
arelt MY B 18 Adhs | UR FR At ], W afe T MiSai up-gae o faudia famm & o« & &,
I TR & | U 9 Ybs T JHY TGl 8| g1 Yermisal 3t 9 (Hex/ AFbs H)Fan|

1. Can't be determined; fRufRa T8t fovar o1 Iabar



2.10, 25
3.15, 20

4.5, 15

Correct Answer :-

10) 1
Ram'’s present age is ¢ of his father’s present age. If the difference between

their present ages is 35 years, what is his father’s present age?/W?ﬁaT-fHH&n'g
1

IS e &Y adur g Ft ¢ 1 afe I <1 & ad A g F oiw 35 af o1 SieR € o foran it
T MY FT 3

1. 44 years/44 a9
2.32 years/ 32 @§
3.42 years/42 ¥

4. 52 years/52 G

Correct Answer :-

e 42 years/42 G

11) If percentage of profit made, when an article is sold for Rs.78, is twice as
when it is sold for Rs.69. the cost price of the article is:/w?ﬂﬁiﬁ 69 ¥T9d A S
& TTT 78 TUL A A9 T ATH P UTA=Id SRIAT SIT 8 S a%g BT hayed T gHI?

1. Rs.51
2. Rs.49
3. Rs.57

4. Rs.60

Correct Answer :-

« Rs.60

12) A monkey tries to ascend a greased pole 14 metres high. He ascends 2
metres in first minute and slips down 1 metre in the second minute. If he
continues to ascend in this fashion, how long does he take to reach the top?/

TP g 14 Hic? $3 e WY IR T2 31 SR Har g1 ugd e A ag 2 v Sardears



3R g firre § a1 e 9 fipwrer oiman 71 afe 9o 330t v A wodn @ o 98 Rer W g
#H fpa= o a2

1. None of these/37H I &5 g
2. 26 min/26 e
3. 28 min/28 fiFe
4. 24 min/24 i e

Correct Answer :-

« None of these/‘?ﬁ@[ﬁéﬂﬁ

13) The middle number of the three numbers which are in the ratio5: 2 : 3 and
sum of whose squares is 1862 is?/dH GBI H» AA P GBI S fF5:2:3F
SUTd § 8 YT 3P a7 T AT 1862 82

1.13
2.12
3.14

4. 11

Correct Answer :-

. 14

14) A, B and C contract a work for Rs.550 together. A and B are supposed to do
7/11 of the work. How much does C get? / A, B Td C TH HTH HT 6HT 550 U4 H Ad
2IATIB aer dri &1 7/ 11 T R HR Ad 71 € &Y fpa=n wra ghar 82

1. Rs.200
2. Rs.250
3.Rs.150

4. Rs.300

Correct Answer :-

« Rs.200

15) A, B and C can do a work in 6, 8 and 12 days respectively. Doing that work
together they get an amount of Rs. 1350. What is the share of B in that



amount? / A, B T4 C foil o1 &) wHRI: 6, 8 TF 12 3 # 1 o3 Opa 71 i e ot
TRTH 8 3R 3BT I 1350 T frerd &1 I AR A A B o1 a1 forawm?

1. Rs.450
2. Rs.350
3. Rs.475

4. Rs.400

Correct Answer :-

e Rs.450

16) The average age of A, B and C is 26 years. If the average age of A and C is
29 years. What is the age of B in years?/ A, B AUTC P Mg HT3NTd 26 ¥ 1 AfGA T
C FY 3Tg FT 3id 29 99 B <t B # ST FTZ?

1. 23
2. 20
3.29
4. 26

Correct Answer :-

« 20

17) The simple interest on a sum of money will be Rs.300 after 5 years. For the
next 5 years principal is 3 times, then the total interest at end of the 10th
year?/f&dt ¢ &1 5 Ul &1 YTYRY Ao 300 . 8 TUT 3T 5 a9 & forg gare 3 18 <Y, 10
qul & 3id H Pl STl FHT?

1. Rs.1200
2.Rs.1230
3.Rs.1220

4. Rs.1250
Correct Answer :-
e Rs.1200

18) Two numbers are in the ratio of 15:11. If their H.C.F. is 13, find the sum of
the numbers? /<l TBIY 15:11 3JuTd A T | Al IABTH. . 13 3| TBM3M FTART



1. 390
2.520
3.208

4. 338

Correct Answer :-

« 338

19) Find the smallest of the following fractions./fSafafad fasy # ¥ ga@ sid i
A B

29
;. 88

17

2. 52

79
3. 240

33
4. 100

Correct Answer :-

20) Find the largest of the following fractions./fFafafad i & 3 gad a3t i 39
L3l

ﬁ
1. 29

19

2. 33

3. 13
53
4, 67

Correct Answer :-

53
. B7






